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Sextion A
Questions | to 2 carry | mark each. Questions 6 to 15 carrv 2 marks each.

For each question, o epiiors acg given. One of the §s the correct answer, Maks

Iy

your choice (t, Z, 3 or ). Siade the correct aval on the optical answer sheet.

1. a7, find thevalve of da— 20+ 8.
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. Express tae ratio of 26 et to 5 1o i the simplest form.

PR
(oL

t

P nc.\/_:_,
W e T
e

’ < v
3y A
=7 \ <z N
= A_r' X701

N\,

. “
. . N . L o e e N
3. IE 6 siralar exercise books weigh - kg, what is the weight of 2 such exercise
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books?
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4. Alter traveiiing for 84 km, a car has used up 25% of tae fush How far can the
car trave! with the reraainng fuel?

b 8 km

2y 148k
3 22 km
Ay 328k



Find the volums of acube whose base area 11 25 amnd,

¢ 125em’
@ 215em’
) 343 em’

ay  512cm’

In a school, there were 2500 puptls. The number of gicls wag SGG move than
he number of bays. How many percent more gitls than bovs were thers?

3y  20%
Dy  25%
@ 31y
4 50%

Mr Tay bought a van for $32 000 at a discorne 0f 20%, What was the epgin:?
price of the van?

3y $25600
Y $38400
3y 340000

4y $50000

A car travelled 80 knv/h for 3 hours andd 65 kvl for 2 hours, What was the
average speed of the car for the whole journsy?
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(1) 29kmh
{2 72.8 kb
3>  74km'h
{5y 185 kmk

There are 40 pupils in a class.

(W) [ -

1
of the pupiis are zirls, — ofthe bovs wear
4

spectacles. How many boys o nat weae spaciacles?

(D 8
2y © 106

3 24
(& 3z



12.

Che table bejow shows the parking charges ata cavpark. Serens parked her car
from 130 poa to 4 1 Spoa. How much did she have w pay?

1 hour Po1.20

¢ Every additional half hour or part o
thereof S ?

The figurs below 12 made up of 3 semr-ctrcles, each of mdins {4 o Find te

s — 22
penmeter of the Hguwee, (Take x=—
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Mg Lee 's twies g5 ofd as her son who 15 18 yoars cid now. What will be their
totaiage e B vears’ fime?



13.

14,

15,

The Dgore below shows a quartter cucle of vadivs (4 o Given that the area

3]

of triangle ABC is 5§ em? | find the length ot CD. (Take & :%_)

]

1% cm

%@‘ dcm
2] " 8em

12 cm

)«‘ﬁ " lécem

2 similar tins and 7 similtar bottles can hold 234 { of o3

{f each tin can hold
thrice as much oil as each boitle, how many lures of oil cin cach tin hold?

(3 181
(2 26
[CIEY
(% 781

=
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< . ~
Andy has = a5 much monsy as Ben. Ben bag e much money as Carl
Q

Andy has $63 less than Carl How much money does Rer have?

By $68
2§70
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4y 574



10,

s
~2

——
o

7

scunn B
Cactuestion rom LE to 35 caraes 1 mark, Wite your answars ta the znaces

provided. Give venr answers in the units stated.

i
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Johmson has 1 - dmes as much money as Benson. What s ths casin of

Johneon’s money t2 Benson’s money?

An

¢

There are < tearss in a towurnament. Each team must play agatast eachdther
onee. How mant matchss are there in the tournament?

N _

The fgire below is raade up 0f 2 straight Lnes 2nd 2 equal semi-circles. Fiad
ST, FA
its aves. {Take =—-)
7

dns cme

Y Fn X

The average of 12 numbers is 9. If the sum of the fiest 11 numbers 15 89 find

s (B RAN -
By 20D purader.



20.

23.

A stick is 1 i 8 cm long. A ruter 13 8.3 mviong. A pencil iz 2 cm long.
What ts the ratio of the lengih f the stick o the length of rulec and to the
length of pencal?

Ans

e e g e e

1F Sk packs of cards cost 13, what is the cost ot 3k packs of cards?

There are = as many boys #s girls in a school What fraction of the pupils i

N

the school are boys?

AnS
Tim has $20. Peter has $50. What peccentage of Tim’s maoney 1§ Peter's
mouney? -

Ans . L Y

James read from pags 12 to page 35 of a buok. How maay pages did he vead?

Ans

SRV, -
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26,

27.

28,

29,

A4 pirls shared s quarter pizza. Whaat fraction of the pizza did each girl get?

ot}

Fiit in any two gperational signs (4 -, x or+) to wake the statenwent true,

vAINSL

22 4 2= 18
—_

:\DS M &i
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Ans -

What is the mavimuin number of 3-cm cubes that can fit mto arsetangular box
measuiing 20 ¢ be 1 om by 12 em?

Ans

Andy tock 20 minvtes to travel from his homs to bix office- 1 he drove 3t an
average speed of 60 ki, how far was his office from his home?

ANS {




3. The price of a shirt wage $120. 1f the prce of & bag was 20 % more than the

shirt, how much does the bag cost?

e
)

| €

32.  Whatis the arca of a circle of diameter 42 cim’” (Take n=-=-

)

33, There 15 an empty tank measuring SO cm by 30 om by 28 em.  After
15 000 cm’ of water is poured into the tank, find the height of water fevel 1n
the tank. S

anst e ;c;'m

S

34, The total number of pupils attending the National Day Parade Preyiew at the
Wailonal Stadivum was 55 000 when rounded off ta the nearest thousand. Wha
15 the greatest possible value ¢f ths zctual number of pupils present?

g

L

Ans.

35.  Richard has 4 {imes as muzch mones as Peter. What fraction of Richard's
motey must be civen to Peter se that both have the sams amount of money?




CSeation O
For each quesiion {rem 34 fo 30, show your working clearly in the space below it
and write your answer i the answer space providad.

Fat the 2nd of each question

i

The avmher of rdarice availzble (s shown m brackets [
o7 part-guestion.

»

36. Twice 2 mamber 1y zreater than — of the number bv 10~ Find the nomber,
Y .

Ansc

—f

37 In the fzure balow, ABCD is a rectangle, AX=XD and BY=YC. Find the

>

area DI e shadad part




38. Complete the tessellation by drawing 5 more vnit shape acound the rvirsiTathed

o0
uait shapef given. (2
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of Alice’s money 15 equal t6 S of Renny's money. I hoth

altogether, how much does Alice have?
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The ratio of the pecimeter of square A to the perimeter of squace R1s3 1 5.
¥ind the srea of gquare B,

Ans:i_ (3N

e
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There are 18 besds iz the 3 containers, A, B and C altogetfer. 1f we move 2
bheads from A in B, meove 3 beads from B to C, and then move © beads from C
te A, there will ve the same number of beads in cach of the contamer. How

manv bsads wre thers wocontainer A at fest?



or o c1s - 4 .
42, John spent 35% of his money on a camers. Then he spent — of the remaining
5

money on'a jacket. If he was left with $780, how much did be spend altogether?

Axis {43

43.  The number of stamps that Mary and Henry had at first was in the ratio 31 4
After Mary bought 36 stamps and IHenry sold 20 stamps, Mary then had 5

a8

times as many stamps as Henry, How many stamps did Henry have at first?

Ans .
_—



dA, Tn the finere below, the 5 iron balls In the tank are of the same size, When 3
aon Salls e removed from the tank, the water level decreases by 20%, Find
the valume af wazer i the tank.
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Mr Tan bought some apples and orangee. The prices of the fruits wers shown
below:

Apples | 40¢ cach N
Oranges | S0¢ cach |

The ratio of the number of apples bought o that of the rumber of oranges
bought was 5 : 2. He-spent $81 on the apples and oranges. How many soples
did he buy? R

Ans: T4

At a party, thers were 60 raeyn, 54 women 2nid some children. There were 3
times as many women 48 giris and 5 tmas as many men as boys,

a) Find the total number of peepie at the party,
1 . _ .
b) If — of the mea left, bow rrany peoplie remained at-the party?
4 - )
st inl 3




The pie chart below shows how Mr and Mrs Tay used their corgbined menthly
inesms. They speat half of thetr combined monthly income on Rental, Food
ang Others,
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My and Mrs Tay spent $600 on shopping cach month, what s their
cargbined monthly income”

How wmuch did they spend on {sod cach month?

YWhat percentage of their menthly weomea was spead on thet rental?
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48.

James was driving from Charatog Garden to Breezing Park:, Hal%way, lus car
passed Peter’s car which was traveling at 84 lan/hoin the opposite diesction

1 ~4— hour later, James reached Breczing Park while Petar was stitl 20 km away

from Charming Garden.

a) What was the distance between Charreeng Garden and Brezzing Pack?
b) What was the average speed that James was traveliing at?




45, The figore helow shows 2 ovedapping sirelzs of radius 20 eni. Poms Xandy
ars cenires of the 2 circles respectively. (Take w= 3.14)
(2t Find the perimeter of the shaded part.
() Find the atca of the shaded part.




1 octagon is formed with 8 watchsiicks g )

2 octagons are formed with 15 matchsticks |

7 N
. . - 'y - ) {
3 octagons are tormed with 22 matehsticks i 1 !
s, AN )
\V\_._..,.- \\__' \
a) Complets the following table
~ Nurmber of octagons 1 4 2 3 4 N § + 9
Number of marchsticks § 1 1S 22 I : |
)
‘ ) —t _}1 i
2
b) Haw many matchsticks are needed w form 12 oatapons?
) Find the maximum riunber of octagons that can be iponed in 2
bonzental row with (06 taatchsticxs.
2 .
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1) 2

2) 1

3) 2

4) 3

5) 1

6) 4

75 3

8 3

9) 3

10) 3

11} 4

12) 4

13y 2

14) 3

15) 3

16) 3 « 2
17) 10 matches
18) 2450

19) 19

20) 18 : 5 2
21) 9

22) 2/s

23) 2350

24) 24 pages
25) 1/16

28) - X
27) 5

{PRIMARY) \
2004 ~
28) 96 cubes
29) 20
30) 2.5
31) 144 SO0 29
37) 1386 b
33) 10 &)
34) 55489 pupils
35) 3/¢&
58) b wm
-

37 31.5 cm”
38)
38) $ 75
40) (25%7) ca®
4L) 8 beuds
42y & 1220
£3) 68 stamps
L&) 2000 nl
4S) 135 apples
43) a) a4 people

b)Y 129 people
£7) ad § 12000

B) ¢ 200

¢y 3079
8) a) 250 ka

b) 100 fn/h

-

G, a) £7.8

h)

Crh.

r

228 an

32 .... 57
85 matshsticks
15 neotagons




